[ Efficiency vs vertpos |

~ 0.5

20.45
(2]

Z 04
0.35

b

”""i' S LR AR RR R EARAN AL AN RA Rl AR LARRN LELLE LR

0.95

+

<] -

b4

1072

10

1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— pQM_ckF_TT_retrainOldFiles125_v2_prelimwp

~ 0.5

£ 0.45F e prreneeeee P
1) o : H : : :
> 0.4F
> o
%) E
£ 0.35F
o F
£ 0.3F
o E
0.25F
0.2F
0.15F
0.1 R SRR AR
T 7.1 s N 1 St
.9“05..mj.#..;....;....;..‘r.ﬂ#
@ r | i 1 : i ]
hd L s f }: f ]
I M1+ Bid HHH B M1
093 —-20 -10 0 10 20 30

TP vert z (cm)

~ 0.5
>
D—_0.45
€
D 0.4
20.35
)
c 0.3
2]
3]
£0.25
©
0.2
0.15
0.1
0.05

1.0

Ratio

09557215 -10

-5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


